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Feststellungsprüfung Englisch 

 
Arbeitszeit: 45 Minuten 

Zugelassene Hilfsmittel: keine 
 

A. Cloze Test:  Making Tea with Grandmother 
         Fill in the gaps. Use words which complete the sentence in a meaningful way – one word per gap. 

    
 

Making tea at my Scottish grandmother's ____________________ was an elaborate process. 

Her kitchen was obsessively neat. Two Labrador dogs were always ____________________ 

in and out. She made large quantities of teacakes and biscuits, ____________________ 

than she could possibly consume herself or ____________________ to guests. My 

grandmother wore a look of great ____________________ when she served us kids her 

scones, hot-cross buns with raisins, and shortbread cookies. "I will ____________________ 

you how to make tea", she said. I sat at the kitchen table and ____________________ her. 

She used a wash that tinted her grey hair slightly blue. I pretended she was from outer 

space and that I was learning the ____________________ of an alien people. Scotland cer-

tainly ____________________ that far away from Western Canada when I was a boy. 

I watched her warming the china teapot ____________________ boiling water, emptying it, 

and then doing it again. She added the finest loose black tea leaves, a spoonful 

____________________ person and an extra one for the empty pot. The tea bag to her was 

an evil. The kind of tea depended on the ____________________ of day: Lady Grey, with 

bergamot and citrus, is my favourite and meant for afternoons. Meanwhile, she had a 

____________________ kettle of water freshly boiled, as she claimed re-boiled water does 

not let tea infuse. Since the pot was already warm, the tea could steep for at least five mi-

nutes, to rid itself of the bitter tannin taste ____________________ getting cold. Milk and 

sugar were only added to the individual cups at the very ____________________, as they 

too prevent tea from infusing. 

And so as the clock struck four, with cups, saucers, and plates of biscuits before us, we 

could not have been ____________________. The tea bag never looked the same again. 

 

1 

1 

1 
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1 

1 
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1 

1 
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1 

1 

 

1 

 

1 

1 

 

 

1 
 

Adapted from: Praxis Englisch 02/2010, (309 words) 

 

_____/16crs. 
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B. Language Test 
 

I. Gap – Fill Exercise 

Fill the gap in the sentence with the correct expressions below. There are two words you do not 

need. Each word can only be used once. 
 

1. The train was full ______________________ they had to stand. 

2. We’ll wait here ______________________ you get back. 

3. I’m coming with you, ______________________ you like it or not. 

4. He gave his friend some money, ______________________ he didn’t have much himself. 
 

although so while 

whether until because 
 

_____/4crs. 

 

II. Verb forms: Complete the text. Use the correct form of the words in brackets. 
 

In recent years, transport policy ______________________ (become) more and more of a priority 

for British governments. As more traffic comes on the roads, more roads 

______________________ (build). The present government, for example, is now preparing 

______________________ (spend) £ 21 billion to build 40 new roads and 100 bypasses. However, 

it ______________________ (spend) £ 60 billion on railways as well. Another £ 59 billion will be 

spent on local transport, mainly to repair local roads. 

In Britain, 70% of all trips and 56% of car trips ______________________ (cover) a distance of 

less than eight kilometres. If more people ______________________ (use) public transport like 

commuter trains, less maintenance of the roads would be needed. But the majority of people 

obviously prefers ______________________ (pass) their time travelling in their own cars. If this 

attitude doesn’t change, the government ______________________ (force) to keep up invest-

ments in road repair. 

_____/8crs. 

III. Prepositions: Fill in the correct prepositions. 
 

Alice:  Why don’t you play tennis any more? 

Conny:  I got tired ____________ it. 

Alice:   You were good ____________ it, though. You were capable ____________  

  beating some good players. 

Conny:  Well, I was pretty keen ____________ the game. I don’t know, I just got bored  

  ____________ it. 

_____/5crs. 
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IV. What would an English person say? Mark the correct expression. 

 

1. 

A Jill’s bed has not been made. She 

wants to complain due to it. 

B Jill’s bed has not been made. She 

wants to complain for it. 

C Jill’s bed has not been made. She 

wants to complain about it. 

D Jill’s bed has not been made. She 

wants to complain according to it. 

 

2.  

A Jim was bad at school this year. He 

hopes on better grades next year. 

B Jim was bad at school this year. He 

hopes to better grades next year. 

C Jim was bad at school this year. He 

hopes of better grades next year. 

D Jim was bad at school this year. He 

hopes for better grades next year. 

 

3.  

A Sue succeeded in passing the test. 

B Sue succeeded at passing the test. 

C Sue succeeded about passing the test. 

D Sue succeeded of passing the test. 

 

4. 

A Tim believes on God. 

B Tim believes to God. 

C Tim believes in God. 

D Tim believes at God. 

 

 

5. 

A Jack is as good as his brother. He 

keeps on at him. 

B Jack is as good as his brother. He 

keeps up with him. 

C Jack is as good as his brother. He 

keeps in on him. 

D Jack is as good as his brother. He 

keeps along with him. 

 

6.  

A John cares for his sister. 

B John cares over his sister. 

C John cares of his sister. 

D John cares at his sister. 

 

7.  

A Rita switches in her mp3-player. 

B Rita switches of her mp3-player. 

C Rita switches out her mp3-player. 

D Rita switches on her mp3-player. 

 

8.  

A Judy copes over her difficult situation. 

B Judy copes about her difficult situa-

tion. 

C Judy copes against her difficult situa-

tion. 

D Judy copes with her difficult situation. 

 

_____/8crs. 
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C. Writing 
Choose one of the following topics (I or II) and write about 90-100 words: 
 

I. Going to the movies is still popular all over the world. Explain why this is still the case 

and give at least two reasons.  

 

Or: 

 

II. When students move to a new school, they sometimes face problems. Give two exam-

ples and explain possible ways to help. 

 ________/15crs. 

 
 
 
 
 
 
 
 
 
 
 
 

 
 
 
 
 
 
 
 
 
 
 
 
 
  

 
 
 
 
 
 
 
 
 
 
 
 

  Total:  __/56 crs. 

Use the back page if necessary! 


